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The figures in the margi‘n'indicate
Jull marks for the questions.

Answer either in English or in Assamese

1. Answer the following questions: 1x7=T7

©FT SH(F0E Beg WAl ¢

(@) What is a meso compound ? -
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(c)

)

e

What is meant by a.normalized wave
functlon @

ST SRt qﬁﬁﬁw ?

‘Arrange the following . compounds in

increasing order of bond angle :

wwe fam @W IFA @Y IS T
Wﬁﬂﬁz@m
NH3; PHS’ ASHS’ BlHS

Draw the structure of the most stable
conformer of cyclohexane.

WWWﬁWWW
=) o ’ .

.Prednct the shape of the following
‘molecule :

ware fat ST wigle ﬁ‘fa w H
SOCl,, SF,

Wthh of the followmg molecules is
nonpolar ?

woTs AP GG Y Wy
So,, PCl,
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(g) Why is phenol a stranger ac1d than
ahphatlc alcohol 27

e gFE tg—em@ Tirwa & @R
ifEE. 2
2. Answer the following- questions : 2x4=8 -
o eI Ted o 2
(a) Explain the physmal significance of y/
and y/ .
v % y? I (SIfes RemEg gt a1

(b) Explain why racemic mixtures are
~ optically inactive ?

@@NWWWWWWWI |

(c) Assign R/S conflguratlon of the
- following compounds :

s At e RS e Bl

90

. cHO. . NH, |

H——'—f OH ,'Ho—i—-' CH;
CH,OH . H ’
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© (d) What is Baeyers test ? Give the
' reactlon '

mﬁwo@mﬁmﬁsqm?ﬁﬁwﬁmy "

3. Answer any three of the following
questions : 5x3=15

o et fofibrT e B s

(@) () State Saytzeff's rule and explain
with suitable example. - - 2

Boge T c@ﬁm &R |
sl

(i) Describe the mechanism of
dehydrohalogenation of alkyl

halides. | 3
SERIE R RoyRu RS
wRe RigrnRi adqr-a411

(b) . Describe the i1tility of Born-Haber cycle
- for calculating the lattice energy of

sodium chloride. : 5
2T gater @w “fE s A
(AR 5T I T 9|
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(c) Identify the products of the followmg
reactions : 1x5=5

wﬁmﬁmmq@ﬁm@wwafmﬁcﬁ
't

0 /\/ + H, 'Li-ndlar’s catalyst S

o,

W - Zn /H,0

.ﬁii)A/\( HotKMnO,

) . *+Ch 773K

T [,
(d) How are alkanes prepared by the
. following ? . - 2% +2%=§
oS AT ARl (PEWR e oS 31
e - ' '
(i) Corey-House reaction

FRYoy RiFw
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(i) Wurtz reaction
The Rt

- (e) Draw the radial probability distribution

.curves for 1s, 2p and 3d-electrons and

explain the difference. 5

Ls, 2p W 3d e AT il Rioe
IR S IR ke sty gt =1

4. Answer any three of the following
questions : ‘10><3=3O

(@) () Write two differences between
' - electromeric effect and

resonance effect. 2
LFGARE SR ST A WS 57
ey i1

(i) Write down the mechanism of
oxymercuration-demercuration of-

reaction of propane. ' -3
AN AR (a5-Rowraiee camw
- R Rkt fora
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| (iti) S,tateA and explain I-Iofmann"_s rule .
with an example. 3

SR e R B <o <

(iv) Carry out the following conversion :

| o g
Ethyne ~ but-2-ene

(b} () Discuss the bonding in NO
" “molecule with the help of
molecular orbital theofy and from

~ its molecular orbital energy level
diagram explain why bond energy

of NO* is larger than that of NO. .

iR TR R HITS NOSR 919

3 3 R TR AR SRR *ifew -

foas FEe IR T @ NO* IEW

& oF NO @RI "
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(i) What is radius ratio .rule ? How
can it hélp to predict &e structure .
of an ionic crystal ? What is its
hm1tat10n ? | S

miwwﬁﬁqﬁmﬁqmwﬁﬁn
e dor A Rl TI° T QTR
Wm?mﬁaﬁwﬁm

(c) (i) What is lattice energy ? How does
the solubility of an ionic solid
depend upon its lattice energy ?

Mention the factors on which
lattice energy of an ionic solid
depends. ' S
s s e R e 2 AR T
e B TSl TR AR MR
oS (T W6 I ¢ B o
@R (=65 W R 31w
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(i) Calculate the % jonic character.in
HCl molecule. Given the bond

dlstance in this molecule is

1.275A and observed - dipole
moment value is 1-03D. - 3
HCL 993 % S of e w11 o
Wit @ HCl ST I 79 1.275A
% *fREFe At @ 1-03 D.

(iii) .The'dipole moment of NH3 is larger -
than that of NF3. Justify the

statement ) 2
NF3 w3 NH3-% f%zm I @fil [t
WI

(d) () What are quantum numbers ?
How do they arise in the wave
mechanical model of an atom ?
Discuss the physical significance
of different quantum numbers.

' 1+2+4=7

@ﬁﬁma\ﬂnﬁs% ?sﬂ%iwcﬁwéﬂa
T NN R TR T 1 Rew
(RIBR R (1o Rosparg <o w11
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(ii). Write Schrodinger wave equation
for hydrogen atom. What are
vanous parameters. used in the -
equatlon ? 3

| REER SR I BER el
FRYRACE! Bt | TS IRDT @R/
ﬁﬁcvﬁrﬁ%ﬁ@ﬁﬁ‘*nl :

| (é) () Compare and contrast about the
‘s'tructure and stability of

) | carbocation and carbanion. 5
AHROR o O Sy i)

() How is benzene converted to
acetophenone ? Name the reaction
and discuss the mechanism
explaining each step. -5

- AR (PR o R ARTEA
4 = | RIFTOR A Fr o !
st 101 Tt Rt Rt 2 =)
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i)

-

(iii)

(iv)

State and expléin Huckel’s rule
of aromaticity with suitable

. examples. o - - 3
%ﬁwmw’a aa‘mf% ﬁf&
AR ot =1

What are anti-aromatic

compounds ? Give examples. 2

- Tb ctet 3 e e ?@Tﬂw

Comf:are -the relative stability of
benzene, toluene and nitrobenzene
towards electrophilic substitution.

3

Explam the difference bétween'the
terms  conformation and
configuration by taking sultable

_examples. D)
WWWWWWWW
-vnerasx It 3|
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